Software Engineering, CPSC-4360-01 and CPSC-5360-01
Tutorial 6

Exercise 1. Draw a sequence diagram corresponding to the collaboration diagram below:
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Exercise 2. The code below shows a class DataSet, which provides basic statistical functionality on a set of data, and a class ExamMarks, which uses DataSet to store and work out the average of a set of exam marks. The main function shown reads in two marks and uses ExamMarks to store them and print out the average. Draw a sequence diagram showing the interaction that takes place when the main function executes.
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class DataSet
{ private float datal]
private int items ;
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public DataSet () {
data = new float[256]
items = 0

il

public void addDataPoint (float d) {
datalitems++] = d
}

public float mean() {
float total = 0 ;
for (int i = 0; i < getSize(); i++) {
total += datal[i]
}

return total / getSize()

}

public int getsize() {
return items;

}
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class ExamMarks
{

private DataSet marks ;

public void enterMark(float m) {
if (marks == null) {
marks = new DataSet() ; |
}

marks.addDataPoint (m)

}

float average() {
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return marks.mean() ; [Type: JPEG Image

ize: 760 KB
loimension: 4960 x 6391 pivels|

public class Average
{
public static void main(String args(]) {
ExamMarks exam = new ExamMarks ()
exam.enterMark (56)
exam.enterMark (72) ;
System.out.println(exam.average()) ;
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Exercise 3. Suppose that in a banking system a transfer is carried out in the following way: a transfer object is created to control the interaction, and the two accounts and the amount to be transferred are then passed as parameters to a ‘doTransfer()’ method in the transfer object. Draw a collaboration diagram, based on slides 25 and 34 of Lecture 6, illustrating this interaction. Draw a sequence diagram showing the same interaction and discuss which is the most suitable diagram in this case.
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    Slide 25 of Lecture 6
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     Slide 34 of Lecture 6

Exercise 4. (5.8, page 96, [Priestley, 2004]) Produce a sequence diagram showing a realization of the basic course of events for the Table Transfer use case (that is, transferring a customer from one table to another). Assume that a table number is provided as a parameter for a system message transfer( ) and show on your diagram how the table corresponding to this number is identified.
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